(2)REHMR
3 FHTR| (5 BERUR| (g RESUR| BEKE | HEERE|
A *4 ey | ) | T CEE) |7 og CGEF) | "ty | ) | ey | R
8. 79 9 X 44 7 00 7. 387 0.6
7. 77 0 . 42 4 21.5 9. 26. 9.4
1 6. 7. 4 . 3 00 0, 35, 8.
4 6. 7. 6 . 1 00 1. 39. 7.
5 75 X 0 4 . §] 125 0, 380 8.
6 97 7 44 2 47 5 7.0 1. 401 35.7
A& CFH) 79 3 26 9 33 1 41.0 0. 2184 1803
3 FHTR| (s BEEIUR| (s RESUR| BEKE | HEERE|
A *4 roy | R | ee | FE) [P egr | FE) | i CEF) | “pepmy | FH)
114 7.0 15.7 5 75 7 5 90 9. 0.6
5. 7. 97 1 ) 26.5 06 2 1.2
2 6. 09 7 . 165 6.0 7. 1.
4 7. 2.1 ) 4 0 09 1. 0.
5 X 37 X 4 00 14 440 I
6 13, 7.1 7 4. 67.5 6.1 10.6
A& CFH) } 29 47 3 1230 40 1461 [ 1
3 FHTR| (5 BEEXUR| (s RESUR| BEKE | s BEERE|
A *4 G CER) |0 ) |76 ) | T | )| aspy | PR
113 9. 47 39 7. 5.1 37.0 7 19.0 7
4 0. 1.0 4. 2. 5. 00 2 42. 1
3 . 0 45 5. 4 6. 37.0 8 39, 0
4 [ 83 . 4 7. 6.0 0 24, 6
5 57 ) 1 7. 05 75 44. .
6 03 X 120 85 66.5 9.8 354 4.
A& CFH) 59 4 il 67| 1470[ 1550 2051 184
3 FHTR| (s BEEXUR| (s RESUR| BEKE | s BEERE|
A *4 G CER) |0 ) |76 | B | Tt | )| aspny | TR
4 37 76 79 89 94 155 1 274 .
6 47 7.1 8 74 04 05 7 49.2 .
A 9 4 77 5 8 2 275 §] 2 .
4 7 1 0. 0.1 2 9 90 5 0 .
5 . 7 0. 07 5 5 1.0 0.2 4. 0
6 7. 74 1. 1.3 43 3 87.0 2.4 3. 8
A& CFH) 5 57 9. 97 1.0 4] 1405 1816 187 1912
3 FHTR| (s BEEXUR| (s RESUR| BEKE | HEERE|
A *4 oy | ) | CEE) | ™ og CEF) | g | ) | ey | R
7. ) 8 0 8 42 75 359 42.2 0.
7. . 5 6 §] 5.1 00 37.3 455 .
5 X . 0 0 5.1 54 855 384 25.7 X
4 . 5 4.2 ) 55 7 58.0 353 36.6 I
5 0. 9 5.3 . 65 ) 00 284 4.0 0.
6 1. 0.5 47 4. 75 79.5 331 435 6.
A& CFH) 9. 94 35 3. 53 2305 2084 2475 184
3 FHTR| (s BEEXUR| (s RESUR| BEKE | s HEERE|
A *4 G CER) 1P ) |7 | ) | i CEF) | “pepmy | FH)
2 1 5 4. 90 75 99.0 32. 6.0 7.9
. ] 0 5. 0.0 2 5 35. 6 5.7
6 2 5 5. 9. 0 7.0 41. . 4.0
4 §] 45 5. 8. 8 28.0 50. . 2.0
5 4 0 6.4 0. 0.6 54.0 55, 4. 96
6 4.0 0 7.0 0.5 1.4 1.0 53. 9. 0.0
A& CFH) 25 6 5.8 93 94 1985 | 268 130. 1392
HSUR = SR ESUR [EZ3 FR B ZERA
: FHRE| (3 SEESR| (s REKR| g | (3 EEEIE
A *4 roy | FE) | e CEF) 1P ™ 9 | Tom | )| spny | TR
3. 47 6 7.8 0. ) 75 48. 305 1
. 4 8 . ) . 126.0 44. 33 5
2 ) 0 0 } ) ) 5 42. 29.0 0
4 ) 4 4 I X X 00 404 35, 0
5 7. 8 4 0. 4.4 X 00 35.7 51. 4.3
6 7. 7.0 7 0. 4.4 4. 10.0 38.7 46. 431
A& CFH) 6. 6.0 7 9. 33 3. 1800 2503[ 196. 188.0
3 FHTR| (s BEEIUR| (s RESUR| BEKE | s BEERE|
A *4 roy | )| T CEF) | 9 | Tm | )| ey | TR
7.3 7. . 0. 3 4. 1395 308 2 75
6.7 7. . 0. 4.2 4. 449.0 343 9. 6.4
3 6.9 7. . 0. 4.4 4. 0 38.7 4 3.
4 75 7. 0.4 0. 5.0 40| 1865 5 1.0 4.
5 6.7 7.0 0.3 0. 4.1 8 0 8 6.2 359 |
6 5.6 6.7 9.0 0. 27 5 5 5 5.4 425
A& CFH) 6.7 7.1 9.9 0. 42 9] 8515] 2026 92| 2205
3 FHTR| (s BEEXUR| (s RESUR| BEKE | HEERE|
A *4 roy | ) | T CEE) | ™ og CEF) | g | ) | ey | R
5.7 6.3 9 0.1 9 1 125.0 31.7 13. 4
. 5.7 7 . 0 . 79.5 7.9 38, 4
0 ) 5.0 7. X . . 05 441 1. 7
4 . 4.3 5. ) } 0. 05 475 7. 2
5 . 3. 8. 75 . 0. 350 455 14 9
6 4 2] 7. 6.7 . 9. 00 414 46.9 0
A& CFH) .9 4. 8.0 85 0. 1. 2405 2481 1699] 1756
3 FHTR| (s BEEXUR| (s RESUR| BEKE | s BEERE|
A *4 ey | FE e | FE) [P e FE) | Ty | ) | ey | R
4.0 1. 7.6 6.0 14 83 340 354 7 5.8
8 1. 6.5 5.4 7.1 74 95 9.1 . 7.1
- 2 0. 5.0 4. 74 65 475 6.4 X 9.4
4 7 9. 3. X 44 54 2.0 4. 39, 0.8
5 . 8. 4. X . 43 00 8 30. 07
6 . 74 3. 0 4. 34 4.0 7. 40, 35.7
A& CFH) 0. 97 5.0 42 6. 59| 2070[ 1510[ 174 1795
3 FHTR| (s BEEXUR| (s RESUR| BEKE | s HEERE|
A *4 ey | FE) T ee | FE) [P FE) | Ty | ) | ey | R
6.9 67 0. 14 129 7 20.0 52 21.0 .
75 6. 1. 0.7 140 1 15.0 76 240 X
1 7 5. 8 9. 6 2 20 ] 407 .
4 4 4. 74 8. 4 00 00 . 2. 4
5 X 3. 038 7. 0 90 0.0 . 8. 0
6 24 1.0 7. 8 82 9.0 5. 4 0
A& CFH) 46 0.1 9. 6 105] 116.0 2. 171. 172.9
3 FHTR| (s BEEIUR| (s RESUR| BEKE | s HEERE|
A *4 G CEEF) |7 g CEE) 1P| ) | i CEF) | “pepmy | FH)
5 115 7 6.2 4. 713 5 44 7.8 0
1 10.7 4 54 ) 6. 5 25 6.9 4
1 77 . 4 45 ) 5. 0 05 5.0 7
4 ] } . 9 5 . 480 80 00 0.1
5 . 5 2 47 00 59 39. 07
6 4 1 5 42 75 7.0 38. 7.4
A& CFH) 7 44 2 6 715 583 187. 186.3




